

NAME : RICHARD - KOKO OKONJE

MATRIC NO : 15/EN604/015

DEPARTMENT : CHEMICAL ENGINEERING

COURSE CODE : ENG 381

1 $(1-x^2) \frac{d^2y}{dx^2} - 2x \frac{dy}{dx} + 2y = 0$

Solve

For w_1 :

$$w_0 = y^2 \quad v = 1-x^2$$

$$w^2 = y^{n+2} \quad v' = -2x$$

$$w^{n-1} = y^{n+1} \quad v'' = -2$$

$$w^{n-2} = y^n$$

For w_2 :

$$u = y' \quad v = -2x$$

$$u^n = y^{n+1} \quad v' = -2$$

$$u^{n-1} = y^n$$

For w_3 :

$$u = 2y$$

$$u^n = 2^n y^n$$

$$y^2 = y^{n+2} (1-x^2) + n \cdot y^{n+1} \cdot (-2x) + n(n-1) y^n \cdot (-2) - 2x \cdot y^{n+1} - n(2) y^n + 2y^n = 0$$

$$(1-x^2) y^{n+2} - 2x n y^{n+1} - n(n-1) y^n - 2x y^{n+1} - 2n y^n + 2y^n = 0$$

$$(1-x^2) y^{n+2} - (2n+2) x y^{n+1} - n(n-1) - 2n + 2y^n = 0$$

$$(1-x^2) y^{n+2} - 2x(n+1) y^{n+1} - n^2 + n - 2n + 2y^n = 0$$

$$(1-x^2) y^{n+2} - 2x(n+1) y^{n+1} - (n^2+n-2) y^n = 0$$

Let $x=0$

$$y^{n+2} = (n^2+n-2) y^n$$

When $n=0$ $y^2 = -2(y^0)$

" $n=1$ $y^3 = 0$

" $n=2$ $y^4 = 4(y^2) = 4(-2)(y^0)$

" $n=3$ $y^5 = 10(y^3) = 10(0) = 0$

" $n=4$ $y^6 = 18(y^4) = 18(4)(-2)(y^0)$

" $n=5$ $y^7 = 28(y^5) = 28(0) = 0$

" $n=6$ $y^8 = 40(y^6) = 40(18)(4)(-2)(y^0)$

From macalauron's series

$$y = y^0 + x(y^1)_0 + \frac{x^2}{2!} (y^2)_0 + \frac{x^3}{3!} (y^3)_0 + \frac{x^4}{4!} (y^4)_0 + \frac{x^5}{5!} (y^5)_0 + \frac{x^6}{6!} (y^6)_0 -$$

$$y = y^0 + x(y^1) + \frac{x^2}{2!} (-2)(y^0) + \frac{x^3}{3!} (0) + \frac{x^4}{4!} (4)(y^0)(-2) + \frac{x^5}{5!} (0)$$

$$+ \frac{x^6}{6!} (18)(4)(-2)(y^0) + \frac{x^7}{7!} (0) + \frac{x^8}{8!} (40)(18)(4)(-2)(y^0)$$

$$y = y_0 + x(y_1)_0 - x^2(y_2)_0 - \frac{x^3}{3}(y_3)_0 - \frac{x^4}{4}(y_4)_0 - \frac{x^5}{5}(y_5)_0$$

$$y = y_0 + x(y_1)_0 - \frac{x^2}{2}(y_2)_0 - \frac{x^3}{6}(y_3)_0 + x(y_4)_0$$

$$2 \quad \text{i) } 3e^{-4t} - 5e^{4t}$$

$$= \frac{3}{s+4} - \frac{5}{s-4}$$

$$\text{ii) } \sin 4t + \cos 4t$$

$$= \frac{1}{s^2+4^2} + \frac{s}{s^2+4^2}$$

$$\text{iii) } \frac{1}{t^3} + 2t^2 - \frac{1}{t} + 1$$

$$= \frac{6}{s^4} + \frac{4}{s^3} - \frac{1}{s^2} + \frac{1}{s}$$

$$\text{iv) } e^{-2t} \cos 5t$$

$$= \frac{s+2}{(s+2)^2 + 25}$$

v) $\frac{3 \sin 3t}{s^2+9}$

$$L\{3 \sin 3t\} = \frac{3}{s^2+9}$$

$$L\left\{\frac{3 \sin 3t}{s^2+9}\right\} = -\frac{d}{ds} \left[\frac{3}{s^2+9} \right]$$

$$u = 3$$

$$\frac{du}{dx} = 0$$

$$v = s^2+9$$

$$\frac{dv}{dx} = 2s$$

$$= - \frac{(s^2+9)(0) - 3(2s)}{(s^2+9)^2}$$

$$= - \left[\frac{-6s}{(s^2+9)^2} \right]$$

$$= \frac{6s}{(s^2+9)^2}$$

$$(s^2+9)^2$$

vii) $\frac{e^{-t} - e^{-2t}}{t}$

$$L\{e^{-t} - e^{-2t}\} = \frac{1}{s+1} - \frac{1}{s+2}$$

$$L\left\{\frac{e^{-t} - e^{-2t}}{t}\right\} = \int_{\sigma+2}^{\infty} \left(\frac{1}{s+1} - \frac{1}{s+2} \right) ds$$

$$= \int_{\sigma+2}^{\infty} \left(\frac{1}{s+1} \right) ds - \int_{\sigma+2}^{\infty} \left(\frac{1}{s+2} \right) ds$$

$$= \int_{\sigma+1}^{\infty} \left(\frac{1}{\sigma+1} \right) ds - \int_{\sigma+2}^{\infty} \left(\frac{1}{\sigma+2} \right) ds$$

$$= \ln(\sigma+1) - \ln(\sigma+2)$$

$$= \ln \left[\frac{\sigma+1}{\sigma+2} \right]_{\sigma}$$

$$= \ln \left[\frac{\infty+1}{\infty+2} \right] - \ln \left[\frac{s+1}{s+2} \right]$$

$$= \ln 1 - \ln \left[\frac{s+1}{s+2} \right]$$

$$= 0 - \ln \left[\frac{s+1}{s+2} \right]$$

$$= \ln \left[\frac{s+2}{s+1} \right]$$

$$= \ln \left[\frac{s+2}{s+1} \right]$$

viii) $e^{-t} \cos 2t$

$$= \frac{s-1}{(s-1)^2 + 4}$$

$$(s-1)^2 + 4$$

iii) $t \sin 2t$

$$L\{\sin 2t\} = \frac{2}{s^2 + 4}$$

$$L\{t \sin 2t\} = -\frac{d}{ds} \left[\frac{2}{s^2 + 4} \right]$$

$$u = 2$$

$$\frac{du}{dx} = 0$$

$$v = s^2 + 4$$

$$\frac{dv}{dx} = 2s$$

$$= - \left[\frac{(s^2 + 4)(0) - 2(2s)}{(s^2 + 4)^2} \right]$$

$$= - \left[\frac{-4s}{(s^2 + 4)^2} \right]$$

$$= \frac{4s}{(s^2 + 4)^2}$$

iv) $t^3 + 4t^2 + 5$

$$= \frac{6}{s^4} + \frac{8}{s^3} + \frac{5}{s}$$

v) $e^{3t} [t^2 + 4]$

$$= \frac{2}{(s-3)^3} + \frac{4}{s-3}$$

vi) $t^2 \cos t$

$$L\{\cos t\} = \frac{s}{s^2 + 1}$$

$$L\{t^2 \cos t\} = -\frac{d}{ds} \left[\frac{s}{s^2 + 1} \right]$$

$$u = s$$

$$\frac{du}{dx} = 1$$

$$v = s^2 + 1$$

$$\frac{dv}{dx} = 2s$$

$$= - \left[\frac{(s^2 + 1)(1) - 2s(s)}{(s^2 + 1)^2} \right]$$

$$= - \left[\frac{s^2 + 1 - 2s^2}{(s^2 + 1)^2} \right]$$

$$= - \left[\frac{-s^2 + 1}{(s^2 + 1)^2} \right]$$

$$= \frac{s^2 - 1}{(s^2 + 1)^2}$$

$$u = s^2 - 1$$

$$\frac{du}{dx} = 2s$$

$$v = (s^2 + 1)^2$$

$$\frac{dv}{dx} = 4s[s^2 + 1]$$

$$= 2s(s^2 + 1)^2 - 4s(s^2 + 1)(s^2 - 1)$$

$$= \frac{2s(s^2 + 1)^2 - 4s(s^2 + 1)(s^2 - 1)}{(s^2 + 1)^4}$$

$$= \frac{2s(s^2 + 1) - 4s(s^2 - 1)}{(s^2 + 1)^3}$$

$$= \frac{2s[s^2 + 1 - 2s(s^2 - 1)]}{(s^2 + 1)^3}$$

$$\text{XII} \quad \frac{\sinh 2x}{x}$$

$$L\{\sinh 2x\} = \frac{2}{s^2 - 4}$$

$$L\left\{\frac{\sinh 2x}{x}\right\} = \int_{s^2 > 4}^{\infty} \frac{2}{s^2 - 4}$$

$$= \int_{s^2 > 4}^{\infty} \frac{2}{s^2 - 4}$$

$$= \ln \left[\frac{2}{s^2 - 4} \right]_{s^2 > 4}^{\infty}$$

$$= \ln \left[\frac{2}{\infty^2 - 4} \right] - \ln \left[\frac{2}{s^2 - 4} \right]$$

$$= -\ln \left[\frac{2}{s^2 - 4} \right]$$

$$= \ln \left[\frac{2}{s^2 - 4} \right]^{-1}$$

$$= \ln \left[\frac{s^2 - 4}{2} \right]$$

$$3 \quad \text{ii} \quad L^{-1} \left[\frac{s-5}{(s-3)(s-4)} \right] = \frac{A}{s-3} + \frac{B}{s-4}$$

$$\frac{s-5}{(s-3)(s-4)} = \frac{A(s-4) + B(s-3)}{(s-3)(s-4)}$$

$$\text{for } A: s-3=0, s=3$$

$$B: s-4=0, s=4$$

$$3-5 = A(3-4) + B(0)$$

$$-2 = -A$$

$$A = 2$$

$$4-5 = A(0) + B(1)$$

$$B = -1$$

$$\frac{s-5}{(s-3)(s-4)} = \mathcal{L}^{-1} \left[\frac{2}{s-3} - \frac{1}{s-4} \right]$$
$$= 2e^{3t} - e^{4t}$$

$$\text{ii) } \frac{2s-6}{(s-2)(s-4)} = \frac{A}{s-2} + \frac{B}{s-4}$$

$$\frac{2s-6}{(s-2)(s-4)} = \frac{A(s-4) + B(s-2)}{(s-2)(s-4)}$$

$$\text{For } A : s-2=0, s=2$$

$$\text{" } B : s-4=0, s=4$$

$$2(2)-6 = A(2-4) + B(0)$$

$$-2 = -2A$$

$$A = 1$$

$$2(4)-6 = A(0) + B(4-2)$$

$$2 = 2B$$

$$B = 1$$

$$\frac{2s-6}{(s-2)(s-4)} = \mathcal{L}^{-1} \left[\frac{1}{s-2} + \frac{1}{s-4} \right]$$
$$= e^{2t} + e^{4t}$$

$$\text{iii) } \frac{5s-8}{s(s-4)} = \frac{A}{s} + \frac{B}{s-4}$$

$$\frac{5s-8}{s(s-4)} = \frac{A(s-4) + Bs}{s(s-4)}$$

$$\frac{5s-8}{s(s-4)}$$

$$\text{For } A : s=0$$

$$\text{" } B : s-4=0, s=4$$

$$5(0)-8 = A(0-4) + B(0)$$

$$-8 = -4A$$

$$A = 2$$

$$5(4)-8 = A(0) + 4B$$

$$12 = 4B$$

$$B = 3$$

$$N \frac{s^2 - 3s - 4}{(s-3)(s-1)^2} = \frac{A}{s-3} + \frac{B}{s-1} + \frac{C}{(s-1)^2}$$

$$\frac{s^2 - 3s - 4}{(s-3)(s-1)^2} = \frac{A(s-1)^2 + B(s-1)(s-3) + C(s-3)^2}{(s-3)(s-1)^2}$$

$$(s-4)(s+1) = A(s-1)^2 + B(s-1)(s-3) + C(s-3)^2$$

$$(s-4)(s+1) = A(s^2 - 2s + 1) + B(s^2 - 4s + 3) + C(s-3)^2$$

$$s^2 - 3s - 4 = As^2 - 2As + A + Bs^2 - 4Bs + 3B + Cs - 3C$$

$$1 = A + B$$

$$-3 = -2A - 4B + C$$

$$-1 = A + 3B - 3C$$

$$A = 1 - B$$

$$-3 = -2(1-B) - 4B + C$$

$$-3 = -2 + 2B - 4B + C$$

$$-1 = -2B + C \quad \text{--- (1)}$$

$$-1 = 1 - B + 3B - 3C$$

$$-2 = 2B - 3C \quad \text{--- (2)}$$

$$-1 = -2B + C$$

$$+ -2 = 2B - 3C$$

$$-3 = -2C$$

$$C = \frac{3}{2}$$

$$-1 = -2B + \frac{3}{2}$$

$$2B = \frac{3}{2} + 1$$

$$2B = \frac{5}{2}$$

$$B = \frac{5}{2} \div 2$$

$$B = \frac{5}{4}$$

$$A = 1 - \frac{5}{4}$$

$$A = -\frac{1}{4}$$

$$= \frac{-1}{s-3} + \frac{5}{s-1} + \frac{3}{2(s-1)^2}$$

$$= \frac{-1}{4} e^{3t} + \frac{5}{4} e^t + \frac{3}{2} t e^t$$

$$\begin{aligned}
 \checkmark \quad \frac{s-5}{s^2+4s+20} &= \mathcal{L}^{-1} \left\{ \frac{s-5}{(s+2)^2+16} \right\} \\
 &= \mathcal{L}^{-1} \left\{ \frac{s}{(s+2)^2+16} \right\} - \mathcal{L}^{-1} \left\{ \frac{5}{(s+2)^2+16} \right\} \\
 &= \mathcal{L}^{-1} \left\{ \frac{s+2-2}{(s+2)^2+16} \right\} - \mathcal{L}^{-1} \left\{ \frac{5}{(s+2)^2+16} \right\} \\
 &= \mathcal{L}^{-1} \left\{ \frac{s+2}{(s+2)^2+16} \right\} - \mathcal{L}^{-1} \left\{ \frac{2}{(s+2)^2+16} \right\} - \mathcal{L}^{-1} \left\{ \frac{5}{(s+2)^2+16} \right\} \\
 &= \mathcal{L}^{-1} \left\{ \frac{s+2}{(s+2)^2+16} \right\} - \mathcal{L}^{-1} \left\{ \frac{7}{(s+2)^2+16} \right\} \\
 &= \mathcal{L}^{-1} \left\{ \frac{s+2}{(s+2)^2+4^2} \right\} - \mathcal{L}^{-1} \left\{ \frac{7}{(s+2)^2+4^2} \right\} \\
 &= e^{-2t} \cos 4t - \frac{7}{4} \mathcal{L}^{-1} \left\{ \frac{4}{(s+2)^2+4^2} \right\} \\
 &= e^{-2t} \cos 4t - \frac{7}{4} e^{-2t} \sin 4t
 \end{aligned}$$